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3G5. PiiOBLEM. To fr/tns/'orm (tit ('(/Ufifion ,s() (lull tlie

roots slmll hi' iiiiiUift/'cd hij a gireii factor m.

tSdliifimi. Siiicc the roots art- to be miiltijtlicd by /^/, llie

new unknown ([uantity must be equal to mx. So if we call

this quantity y, we have

y = mx,

which "fives ' — 1L~ m
Sul)stituting this in the general equation, it becomes

Multi[>lying all the terms by m", llu- c(|nation becomes

.'/" + '";'iy"~* + >fi'^p.>!J^'~'^ -f .... 4- m"pn = 0.

Ileneo the rule,

MuUiphi the coefficient of the second term hij m, thot

of the third Inj in\ (tud so on lo the lost term, ir/iieh irill

J)e mulfiplied Inj ,ii".

If the roots are to be divided, we divide the terms in the

same order.

EXERCISES.

1. Make the roots of x^ — '^.r -f ;3 — four times as great.

2. Divide the same nH)ts by 2.

8G(>. riJoin.i'.M. To trotisforni (in eqiifdion so Ihut its

roots siudl he sipiiired.

t)olulion. Let the given e(|uation be

If // be the unknown (juantity of the new equation, we

must have

V — A
whicli gives ^ = ± //-•

If wo substitute :f =: /y-' in the given e(|Uation, it may be

reduced to the form

//• f /'.// I /'4 I (/'l// I P.\) U' -" <••


